e Ersetzungsrelation: s —¢ t gdw. s|; =t10 und t = s[tao|,

fur NH — ww S E
e Beweisrelation: s<ret gdw. s=358p¢reS1$g... S, =1
e Herleitbarkeit: EFs=t gdw. s<5t
Axiome: plus(O,y) = vy
plus(succ(x),y) = succ(plus(x,y))
plus(succ?(0), ) plus(succ(x),y) = succ(plus(z,y)) o = {z/succ(O),y/x}
succ(plus(succ(O),z))  plus(succ(x),y) = succ(plus(z,y)) o ={zx/O,y/x}
succ?(plus(O, x)) plus(O,y) =y o= {y/x}
succ(succ(z)) y = plus(0,y) o = {y/succ(z)}
succ(plus(O, succ(z)))  succ(plus(z,y)) = plus(succ(z),y) o = {x/O,y/succ(z)}
plus(succ(O), succ(x))

=¢ und <% sind stabile und monotone Kongruenzrelationen



